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énoncé

La solution de I'équation 2iz +1 = 2 — i est:

1 1,
a) —5—51
b) — 2 4 2i

2 2
c) —li

3
d =141
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correction

2z+1=2—-i&2iz=1—-1
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correction

2z+1=2—-i&2iz=1—-1
1-i

= zZ= -
2i
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correction

Maths TS obligatoire

2z+1=2—-i&2iz=1—-1

@z—l_i
2
1 Y
PR ot [ G}
2i x (—i)
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correction

2z+1=2—-i&2iz=1—-1

@Zzl—i
2i
oy (1=D(=0)
2i x (—1)
- —i+i?
2
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correction

2iz4+1=2-ie2iz=1-i
1-i

2i
(1-i)(-1)

T

= zZ=

- —i4i2
)
&z = —1-i
)
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correction

2z+1=2—-i&2iz=1—-1

@Z_l—i
2
oy A-D(D)
2i x (—1)
@Z_—i+12
T2
@Z_—l—i
2
(:)z—_—l—li
T2 2
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correction

2z+1=2—-i&2iz=1—-1

@Z_l—i
2
oy A-D(D)
2i x (—1)
@Z_—i+12
T2
@Z_—l—i
2
(:)z—_—l—li
T2 2

réponse a)
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